" Chem 2202 Midterm Review Questions

Q1. Complete table as indicated.

Element isotope Atomic # Mass # #p #e #n
' symbol
Carbon-12 j‘/ [ﬂ (2 (0 Lo [ﬂ
Magresium-24 ,Zj\/lg W 24 z 112 |12
M%nesiumf L ?;Mgﬁ |7 26 2 1|4
Chlorine - 35 IBTSC] |7 55 7|7 13
Ch\WIA& -31 f’:”C\ - \ T 37 17 18 20
lawom-40Yee| 20 | w | 20]1g |20
phesphide-31 2Le- | 15 3] |15 (18 |
sulbde-34 P57 b | ox |6 | u B
Alumirium-21 SAP" 13 27 ||\3 | w0 | u
2. Given
Isotope Atomic Mass (p) % abundance
potassium - 39 38.96 93.3
potassium - 41 40.96 77

a) What is the percent abundance of potassium - 417
b) Calculate the average atomic mass of potassium?




